SR24E3 A IEIMSaEls SHERE

1 & # 2 6 HIH (2H28H ™ 3H24H)
2 H T
A H i EAS AR i =
a e | BB 9:30 HFR - EEOTE - $R5SEEM - FA
, |28 ® | A= KAETRES (660 17 - 00)
29 + %N =
1 H N =
3
2 A E- S RS —ERY - ERaEs (RREIES)
a2 2HHE  9:30 HEEE SRR - DR
O B 2IFHEATE
4 7K AR =
5 A R =
6 & % =
78|+t Ik =
9 A %N =
10 UN * B = 9:30 EoEEREES
11 7K % =
12 7 A £ #F | 3HBA 9:30 AFERM
13 4 * B = 9:30 TEAFIEES (1)
1415 +-A| K =
16 A x B & 9:30 THEEPHIEES (2)
17 k = B & 9:30 TEEHIEES (3)
18 7K x* B = 9:30 FFIEES (1)
19 N x* B = 9:30 FHIEES (2)
20 & R & EHrDH)
2122 | - H | 1K =
9:30 EEREES
LR - BlRL— MeSEERIEES
23 A % B & HRE) [T AT EE AR R E S
k= X = =7 ¢ PRSI R B S
eI e[ = B
24 k K 2 #FH | BEH 9:30 ZEEWE .36 - Bk




